	PHY 105

Homework 11
	Name: ____________________

November 23, 2009
(Due November 30)


1. Monet (who has a mass of 70.0-kg) stands at one end of a 120.0-kg raft that is 3.40 m long.  At the other end of the raft is a water lily.  Monet walks toward the lily in order to pick it.  When Monet reaches the other side of the raft, how close is he to the lily? Assume that there is no friction between the raft and the water and that the lily does not move. 





2. High-speed photography shows that the head of a 240-g golf club is traveling at 54.0 m/s just before striking a 50.0-g golf ball that was resting on a tee.  The club and ball are in contact for 2.00 ms.  After the collision, the club head travels (in the same direction) at 40.0 m/s.  Find the speed of the golf ball just after impact.  Calculate the average force exerted on the ball by the club.  Was energy conserved during this collision?  How do you know?  

3. A uniform piece of sheet steel is shaped as shown below.  Compute the x and y components of the center-of-mass. 








4. A 5500-kg truck traveling north at 6.2 m/s collides with a 4300-kg truck moving west at 14.3 m/s.  If the two trucks lock together upon impact, with what speed and in what direction do they move immediately after the collision?  How much mechanical energy is lost in the collision?  Account for this loss in energy. 









	5. The picture to the right shows a pattern for a snowman (three circles) which is to be cut from a flat piece of wood, which is 0.5 cm thick and has a density of 600 kg/m3.  The units in the pattern are centimeters.

A. Calculate the snowman’s mass.

B. Calculate the snowman’s center of mass.  
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